S$45023CF

2018-2022 BMW M2 COMPETITION, 3.0L, RESONATOR BACK,

3.0" DUAL REAR, TOURING PROFILE, QUAD TIPS

7
Q
HWS0001-313
HBS0002-008 —_ \
\ 114918
S /;
& ’

HWS0003-313

T15176CF

'L%{‘ PART NUMBER DESCRIPTION S“fgﬁg
1 |W114884 PIPE ASSY, 3" DRIVER-SIDE UNDER-AXLE ]
2 |W114885 PIPE ASSY, 3' PASSENGER-SIDE UNDER-AXLE 1
3 |W114886 PIPE ASSY, 3", DRIVER-SIDE TAIL PIPE ]
4 |W114887 PIPE ASSY, 3", PASSENGER-SIDE TAIL PIPE ]
5 [2.5ACS CLAMP, 2.5" BAND, STAINLESS STEEL 2
6 |3.0ACS CLAMP, 3.0", BAND, STAINLESS STEEL 2
7 |HBM0006-020 BOLT, HEX, M6X1.0 X 20 6
8 |HWMO002-006 WASHER, FLAT, Mé, ZINC COATED 6
9 |HNMO0008-006 NUT, HEX, STOVER, M6X1.0 6
10 (114918 BRACKET, 11GA, BRACE |
11 |HBS0002-008 BOLT, HEX, 5/16-18 X 1.0", GRS, ZN 4
12 [HWS0001-313 WASHER, FLAT, 5/16",(7/8'OD) ZN 4
13 |HWS0003-313 WASHER LOCKING 5/16 ZINC COATED 4
14 |HNS0001-313 NUT, HEX, 5/16" 4
15 [114282-456 SPRING, DRIVE 2
16 [15188CF TIP, 3" IN, 4" OD OUT, CF 2
17 [T5176CF TIP, 2.5" IN, 4 OD OUT, CF, 6.5" L 2

2?5

* ~—HBMO0006-020
‘;‘(HWMOOOQ—O%
HNMO008-006

114282-456

3.0ACS

W114884

? HNSO001-313

Yo

3.0ACS ®

W114885

\HBM0006—020

HWMO0002-006 2.5ACS
HNMO0008-006

W114887
114282-456

March 15, 2023
REV:A

MBRP




	S45023CF
	Drawing View1


